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3. Make a stem and leaf plot for this data.
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6. Ken and Joe attend a health camp at school.

Their heights are noted as 4.01 feet and 3.71 feet
respectively. What is the difference in height
between Ken and Joe?

7. A one-year subscription of a science
magazine costs 537.00. If you were to buy 12
issues of the same magazine from a newsstand for
a year, you would end up spending $72.88. How
much will you save by opting for a subscription?
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8. Clara and her friends take an average of 13

hours to mow a community lawn over a weekend.

How many hours on an average will gbey take to
? . !
mow 14 such lawns? 12 %Y

g, A high-rise building is installed with 252

smoke alarms. If each floor is fitted with 3 smoke

alarms, how many floors does the high-rise building
have?
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10. erte the missing decimals in the number line.
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11. Compare each fraction with <, >, or =.
u,sz 0.3

R BRSO R

R T KT

0.92 ?% .01

W B S R

DR M ERH B G Y LR YW W A MBS n

8.05 é 0.1 ,_ iﬁ{ {;\o i;( qj} i

What is the measure of the angle?




